Analyzing activated sludge process

Slide#13 solution)
S = Ks(1+kg40.)
Oc(tm—kaq)—1

_ 100 mg/Lx (1+0.050 day~1x6,)
10.0mg/L = 6.(2.5-0.050) day—1-1

10.0 mg/L X 2.45day~1 x 0, — 10 mg/L = 100 mg/L + 100 mg/L X 0.050 day~! x 6,
19.5mg/L —day X 6, = 110 mg/L
0, =5.6days




Analyzing activated sludge process

Slide#14 solution)
_0:Y(S50-9)
T to(1+kg6,)
_0:Y(So-S) 5.6 daysx0.50 X (84—10) mg/L

— — — 0.081
0 ™ X(1+kg46,) ~ 2000 mg/Lx(1+0.050 day—1x5.6 days) 0.081 day

to = %, V = Qt, = 0.150 m3/s x 86400 s/day x 0.081 day = 1050 m3



